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<h4 id="EZaEEIT IR ELF-transaction-behavior-and-isolated-level-" > EZAEEITH
fE= 25! [transaction behavior and isolated level]</h4>

<p>Spring FEFHPENX: <br>

—. Propagation : </p>

<p>  key BUHRERENZEINTIAEINSESITH. XENBEREZRIRMEERTA. B
IR HER: </p>

<p>PROPAGATION_REQUIRED--3Z#55RIS55, WIRIRIKBES, MFE—F5. XE&ERE
Y%, <br>

PROPAGATION_SUPPORTS--37#XRI555, MIRIRIKEES, BILAIESESSIIT, <br>
PROPAGATION MANDATORY--3Z3FHAIESS, IRHBNZBES, MtHEE. <br>
PROPAGATION_REQUIRES_NEW--Fr#555, WIRIFIFASESS, IBSmESER, <br>
PROPAGATION_NOT_SUPPORTED--LAFSRS T HTIRIE, WMNRIERFEESS, HiBARSESE
. <br>

PROPAGATION_NEVER--LAIFES 5T, MRIRIFESS, WMHRE. </p>
<p>REANBIESHEBTHBILEAETHE, KIFRE T j2ee without ejb AIBYIR, BRIXE
AT, EEEPRSREERANEM S, BRURAERINNX MO, SKER, HE—HK
NP YE, BAXEXERELRSTT PROPAGATION REQUIRED #1 PROPAGATION _REQUIRED
NESTED g9<br>

f#= spring BRESES </p>

<p><strong> <strong> <strong> <strong>TransactionDefinition #Z[ENX </strong> </strong
</strong> </strong>*********** </p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
C|“>**

</span></span><span class="highlight-line"><span class="highlight-cl"> int PROPAGAT
ON_REQUIRED = 0;

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-c|"> **
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-c|">** **
</span></span><span class="highlight-line"><span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> int PROPAGAT
ON_SUPPORTS = 1;

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-c|">  int PROPAGAT
ON_MANDATORY = 2;

</span></span><span class="highlight-line"><span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-c|">** **
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"><span class="highlight-cl"> int PROPAGAT
ON_REQUIRES_NEW = 3;

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">
ON_NOT SUPPORTED = 4;

int PROPAGAT

</span></span> <span class="highlight-line"> <span class="highlight-cl" >
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-c|"> int PROPAGAT

ON_NEVER = 5;

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"><span class="highlight-cl">

\%
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</span></span><span class="highlight-line"> <span class="highlight-cl">  int PROPAGAT
ON_NESTED = 6;

</span></span></code></pre>

<hr>

<p>EXRENEER, AR HRENIIFESNT, RXEERSIAT. </p>

<p><strong> <strong> <strong> <strong> <strong> <strong> <strong> <strong> <strong> <st
ong>sample</strong> </strong> </strong> </strong> </strong> </strong> </strong> </stro
g> </strong> </strong>***</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"> ServiceA {

</span></span><span class="highlight-line"> <span class="highlight-cl">  void methodA()
{

</span></span><span class="highlight-line" > <span class="highlight-cl"> ServiceB.me
hodB();

</span></span><span class="highlight-line"> <span class="highlight-cl"> '}
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">}
</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span> <span class="highlight-line"> <span class="highlight-cl">ServiceB {
</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl">  void methodB()

VvV VvV

vV VvV

</span></span><span class="highlight-line"><span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"><span class="highlight-cl">}

</span></span></code></pre>

<hr>

<p>ENIXBE— Mo B <br>

1: PROPAGATION REQUIRED<br>

IMAZHREERTHESAESI—TESE, BPBamiE— 1 #HINES<br>

Ebanist, ServiceB.methodB HIEESREBITE N S9 PROPAGATION REQUIRED, BBARTFHT ServiceA
methodA BYAHE, <br>

ServiceA.methodA E&#2 TESS, XA ServiceB.methodB, ServiceB.methodB HZIHZE
1=177E ServiceA.methodA<br>

HESHREE, MABERHNSES. MR ServiceA.methodA =TI RAIE SIS BESESTF,
MBS E—1NES., <br>

X#¥, 1E ServiceA.methodA &E7E ServiceB.methodB WE{H A HINEE, EEXEHLSWEE
BI{# ServiceB.methodB BUEEEZE&H <br>

123Z, {BR ServiceA.methodA T K fail E[Al}R, ServiceB.methodB BEER</p>

<p>2: PROPAGATION SUPPORTS<br>

MRHRIESESP, BUESHFENIET, IRHIAE—ESP, BAMUIEESHNERIET<b
>

XEIREE NS EIFESIIRBRE—RRXE T, REBEXY, RAAREREREEHAKE</p>
<p>3: PROPAGATION MANDATORY<br>

WIRE—NESPIET. Bk, EREFE—RESZEAR. &, tHMEREERE. </p>
<p>4: PROPAGATION REQUIRES NEW<br>

XADFECRSEO T . ELanEAJigit ServiceA.methodA 89525345179 PROPAGATION_REQUIRED,
erviceB.methodB FYE554: 5155 PROPAGATION REQUIRES NEW, <br>

BBAZH1TE ServiceB.methodB HIRH{®E, ServiceA.methodA FRERIESEFSIEFS, ServiceB.met
odB &e— 1N EVEESS, Z543F ServiceB.methodB B9ESTRLUGE, <br>

fthA4keEhifT. 'S PROPAGATION REQUIRED HUESXBIETESHERIZEE 7. FJ ServiceB
methodB EFite—1\E5, IPLMERE<br>

R NAERIES., WNR ServiceB.methodB B&423%, HB4 ServiceA.methodA KW [E[R, ServiceB
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methodB 2F<[EIRAY, R ServiceB.methodB LM ELR, <br>

WNR{BHHAIREW ServiceA.methodA 3k, ServiceA.methodA FEHEHIATIEER3S, </p>
<p>5: PROPAGATION NOT SUPPORTED<br>

HEIAZIFESS, il ServiceA.methodA FIES45IZ PROPAGATION _REQUIRED , T ServiceB
methodB FYZEEA5IZE PROPAGATION NOT SUPPORTED , <br>

BB L1472 ServiceB.methodB BY, ServiceA.methodA FEESEHE#RE, MttLAIFESHRSE TS
BYrEE ServiceA.methodA B9, </p>

<p>6: PROPAGATION NEVER<br>

A EEESESHIE!T. RIR ServiceA.methodA RIS 52 PROPAGATION_REQUIRED, i Servi
eB.methodB IS FIE PROPAGATION _NEVER , <br>

BBA ServiceB.methodB FiEMHEET. </p>

<p>7: PROPAGATION NESTED<br>

12%% Nested FYXHER savepoint, {5 PROPAGATION REQUIRES NEW FYX5IE, PROPAGAT
ON_REQUIRES NEW Fife—1555, BaSHRIRSESEEMZ, <br>

i Nested RISESFMEAIRZSZEIKA, MAIEREESMMEAIRES—HRIERH. BHEiR,
REFEERIZR, MEERRN, <br>

i Nested EHHIFAEME— savepoint, </p>

<hr>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">ServiceA {

</span></span><span class="highlight-line"> <span class="highlight-cl"> void methodA() {

</span></span><span class="highlight-line"> <span class="highlight-cl">  try {

</span> </span><span class="highlight-line"> <span class="highlight-cl"> //savepoint
</span></span><span class="highlight-line" > <span class="highlight-cl"> ServiceB.me
hodB(); //PROPAGATION NESTED %35!

</span></span><span class="highlight-line"> <span class="highlight-cl"> } catch (SomeE

ception) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> /] PUTHEA
&%, 40 ServiceC.methodC();

</span></span><span class="highlight-line"><span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">}
</span></span></code> </pre>

<hr>

<p>tBEi it ServiceB.methodB LM [E;R, FBA ServiceA.methodA th&[ElRZE savepoint 2 E
ServiceA.methodA BILUBESIM—1D3Z, Eeal<br>

ServiceC.methodC, #4E4T, R=EIXTHECHIES. <br>

BRXMNEFHIKEE BB tREFEN. </p>

<p>_. Isolation Level(EHFEELR):<br>

1. Serializable: ™8R5, BSHTHIT, RREERK, </p>

<p>2, REPEATABLE READ: {RIET—1MEFARENCERR—NEFJITNERER (ER) AY
& ERT "HEE M AESEN ISR, BEWRTESAMEERK, </p>

<p>3, READ COMMITTED: ASHEREUEFIIBASZSZEFR, RIET—IPESAKELEB—H
FESCENERRAEIE, BRT "HE . ZENERTASHURE. </p>

<p>4, Read Uncommitted: {RIETIEEBIIEPFAENEAEZEIE. </p>
<p>REFIIETEESESZHFRAR, <br>

FAFIEHITILURSEREENE L ENNER, BEEAFREMENARESHIUALIZT, XFR
EHRIRESMRA BB TR T, <br>

XEgAEIA, <br>

HAIBGRARPIRERER 3 FRTASRHEB <br>

1: Dirty reads--iEiEEE. BRiRUd, LLINES A BUKRIER (RMRAER) RIEHEHES B iEE
SNERES A KWEIR, 285E5S B AnzlAIRIEIRZEIRAY. </p>
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<p>2: non-repeatable reads--HUEARAIESIE, LLINESS A FRAMEEEGE-total-RIE, £5
1;&[3’]!33‘1'5%, total 2 100, #Af55555 B HIE total RUEIHENIAL 200, 55 A BiE—IK, ERHMAIM, to
RN, 200 g LEE%% A giEiREL. </p>

<p>3 phantom reads--ZJSIEHE, XM non-repeatable reads 1B{El, BEE—1"ES+
RIEA—ERYERRE, B2 non-repeatable reads FIA—EE2 R AT EEREIEEWRNZ 7 (Fban t
tal f9EGE) , B2 phantom reads FTEIERIEHRRIA—EEIA E{mFE%*E’J*ﬁEEEIx, M2 {tAY
{HIRERES, il Select account.id where account.names= "ppgogo*" EE—IREEXT 6 NMFE
4R id, BIRSERIEHR, BTSESS b B—MIKSHIBZH"dd" 86k ppgogol”, ,.:.%HﬂtHEET 7

TR, </p>
<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
c"> Dirty reads non-repeatable reads phantom reads

</span> </span> <span class=“highlight—line“><span class="highlight-cl">Serializable
</span> </span> <span class=" hlghllght line" ><span class="highlight-cl">REPEATABLE REA

= =
</span></span> <span class="highlight- I|ne ><span class="highlight-cl">READ COMMITTE
=

</span> </span> <span class- highlight- I|ne ><span class="highlight-cl">Read Uncommitt
d E E E

</span></span></code> </pre>

<p>=. readOnly<br>

E5 B readOnly IFERTIINAESNIZM R ARILES. XE— P RUER. £—
BT, —HEESRREBEBENIRMUR, FIANTEREF Object/Relational BEITER (40: H
bernate &, TopLink) Adiggs dirty checking GXE “RlET” ) . </p>

<p>P4. Timeout</p>

<p>ESFZEIUEPABEN "timeout” [BERINAI, FEEFFEAITAIII., £ ITA b, XISHIERHE
183 J2EE RS ERISEShIEER, #?Eﬁtﬁ%ﬁﬂ*ﬁf HIRRRE, </p>
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